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R3. 6. 10 10:06 N 27.5 22.6 Fii35) e >100 0.21 0.51 ik 7.7 7.6 1.1 0.6 4.7 2.4 3 6.2 0.34 1, 080
12:07 P 28.5 22.5 Mg | IR | >100 0.21 0.54 G 7.9 8.4 1.3 0.7 4.7 2.5 2 6. 4 0.33 983
14:06 i 29.5 23.9 fEGE | IEER | >100 0.25 0.41 W H 7.9 8.9 1.4 0.6 4.7 1.9 3 6.0 0.33 798
16:07 NI 27.8 25. 0 M| R >100 0.98 0. 00 R 8.0 8.8 1.2 0.0 4.9 0.0 4 6.1 0. 34 983
18:08 i 26. 0 23.5 M| R >100 .09 0. 00 AR 8.1 10. 1 1.8 0.0 4.5 0.0 2 6.3 0. 34 180
20:08 re 24.3 23.7 M| R >100 0. 86 1. 04 W 8.1 8.3 1.9 2.0 4.8 5.0 3 6.7 0. 37 192
22:07 En 23.3 22.8 Mg | R | >100 0. 46 0. 38 ik 7.9 6.8 1.8 0.7 4.6 1.7 2 6.2 0. 36 1, 330
R3.6. 11 0:09 i 22.3 22.2 M| BIER | >100 0. 44 0. 02 G 7.8 6.2 1.3 0.0 4.8 0.1 3 6.2 0.37 883
2:07 il 21.8 21.8 W E | IR >100 0.79 0. 00 W 7.9 6.1 1.5 0.0 4.8 0.0 3 6.1 0.37 698
4:09 pg) 23.5 21.2 A 511 78 B >100 1.18 1.87 W 7.9 6.3 2.2 4.1 4.6 8.6 1 6.1 0. 37 125
6:06 rg) 22.1 21.4 W | IR >100 0.95 1.28 ST 7.8 5.8 1.8 2.3 4.8 6.1 1 6.9 0. 40 215
8:06 i 25.1 22.0 WHE | IR >100 0.32 0. 54 ikt 7.8 5.8 1.2 0.6 4.5 2.4 3 5.6 0.35 3, 560
10:05 g 26.8 22.8 piLEE) MR >100 0.21 0. 47 W 7.9 7.6 1.1 0.5 4.8 2.3 2 6. 4 0.37 1, 150
I RAE — 29. 5 25. 0 — — >100 — 1.87 8.1 10. 1 2.2 4.1 4.9 8.6 4 6.9 0. 40 3, 560
e/ IME — 21. 8 21.2 — — >100 — 0. 00 — 7.7 5.8 1.1 0.0 4.5 0.0 1 5.6 0. 33 125
A — 25.3 22.17 — — >100 — 0. 54 — 7.9 7.4 1.5 0.9 4.7 2.5 2 6. 2 0. 36 937
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